



$(AB \parallel FG) \quad \alpha = 90^\circ \iff \angle KGF = \alpha = 90^\circ \iff \angle KGF = \alpha = 90^\circ \iff \angle KGF = \alpha = 90^\circ \iff \angle KGF = \alpha = 90^\circ$
 $\iff \angle KGF = \alpha = 90^\circ \iff \angle KGF = \alpha = 90^\circ \iff \angle KGF = \alpha = 90^\circ \iff \angle KGF = \alpha = 90^\circ$
 $\iff \angle KGF = \alpha = 90^\circ \iff \angle KGF = \alpha = 90^\circ \iff \angle KGF = \alpha = 90^\circ \iff \angle KGF = \alpha = 90^\circ$
 $\iff \angle KGF = \alpha = 90^\circ \iff \angle KGF = \alpha = 90^\circ \iff \angle KGF = \alpha = 90^\circ \iff \angle KGF = \alpha = 90^\circ$

$\angle B = \angle ADE \iff \angle B = \angle ADE \iff \angle B = \angle ADE \iff \angle B = \angle ADE$
 $\iff \angle B = \angle ADE \iff \angle B = \angle ADE \iff \angle B = \angle ADE \iff \angle B = \angle ADE$
 $\iff \angle B = \angle ADE \iff \angle B = \angle ADE \iff \angle B = \angle ADE \iff \angle B = \angle ADE$

$\frac{1}{2} AH = MD \iff ADH \iff \frac{1}{2} AH = MD \iff \frac{1}{2} AH = MD$
 $\iff \frac{1}{2} AH = MD \iff \frac{1}{2} AH = MD \iff \frac{1}{2} AH = MD \iff \frac{1}{2} AH = MD$

$NK \parallel AL \iff \angle NKA = \angle ALB = 90^\circ \iff \angle NKA = \angle ALB = 90^\circ$
 $\iff \angle NKA = \angle ALB = 90^\circ \iff \angle NKA = \angle ALB = 90^\circ \iff \angle NKA = \angle ALB = 90^\circ$

$NK = \frac{1}{2} HA \quad KP = \frac{1}{2} BC$
 $\frac{R}{1} = 2(NK + KP) = 2(\frac{1}{2} HA + \frac{1}{2} BC) = HA + BC$